
20 40 60 80 100 120 140

−
3

−
2

−
1

0
1

2

Cluster: 0186 ptr; resid: 0.24; r/c: 25/79

x.range

upstream meme PSSM #1; e=2.2e+03
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upstream meme PSSM #2; e=1.1e+04
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39705NA
14307−0.17
46518−0.27
43177−0.31
42934−0.82
32733−0.94
12121−1.14
32841−1.22
34060−1.23
49685−1.23
26077−1.75
44775−1.85
47762−1.99
12663−2.06
54536−2.18
31525−2.19
45830−2.32
36844−2.37
45431−2.53
46084−4.74
48791−4.86
38508−5.01
43140−5.02
14125−6.32
44306−7.43

log10(P) upstream meme1 2 log10(P.clust)=−2.50; 25 seqs; 25 uniq
c(0.5, 2.5)
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